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PREFACE

financial challenges, the easier it will be to successfully meet them.

Once explained, the choices we face are not difficult to understand,
but they are difficult to make. They affect both how much Americans pay
for Social Security and how much they receive from the program. They
require changes that not only will affect us but have implications for future
generations. They also are difficult because they involve deeply felt values,
such as community, individualism, fairness, and human dignity. This guide
tries to boil down the complexities of Social Security and the implications
of reform to the basic choices we face as a nation.

The sooner our nation acts to address Social Security’s long-term

Social Security eventually provides benefits to tens of millions of
Americans: workers and the families of workers who become disabled or
die, as well as to those who retire. Those benefits are designed to replace
some of the earnings that such workers lose, but not all of them. Social
Security was never intended to guarantee an adequate income. Also, they
are available only to workers, and their families, who have contributed to
the system.

People are living longer than ever before, and they are expected to live
even longer in the future. If workers keep retiring at the same age as they do
now, they will collect retirement benefits for more years than past workers
did. If the level of those benefits relative to wages stays the same, then
lifetime benefits would cost more simply because those lifetimes are longer.
So this longer life expectancy presents workers with a basic choice: How
much of their earnings should they spend during their peak employment
years, and how much should they save for retirement? Yet, workers also
have other options. They can choose to work longer and have more total
earnings to spread over their lifetimes; they can also choose to invest their
savings in ways that earn higher returns, but to do so they have to take more
risk.

With or without Social Security, workers face these basic choices as they
plan for longer lives. The choices we collectively face for Social Security
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are very similar for the very same reasons. And with Social Security, the
choices will affect not only the program and its beneficiaries but also the
federal budget and the national economy.

This guide provides answers to questions about the most basic aspects
of Social Security and reform issues in a concise and easy-to-understand
format. We provide straightforward answers to how Social Security works,
why it needs reform, what the basic options are, and how to assess their
implications. For readers interested in a deeper and more detailed discussion,
we include a bibliography of related GAO products. A glossary defining key
terms is included at the back of this document.

This report was prepared under the direction of Barbara D. Bovbjerg,
Director, Education, Workforce, and Income Security Issues, who may
be reached at (202) 512-7215. Charlie Jeszeck, Michael Collins,
Ken Stockbridge, and Derald Seid made key contributions to this
publication.

Wil ——

David M. Walker
Comptroller General of the United States
U.S. Government Accountability Office



Basically, how does Social Security work now?

SocIAL SECURITY’S GOALS

1. How did Social Security get started?

When Social Security was enacted, in 1935, the nation was in the midst
of the Great Depression. About half of the elderly (people age 65 and over)
depended on others for their livelithood, and roughly one-sixth received
public charity. Many had lost their savings. Social Security was created to
help ensure that the future elderly would have adequate retirement incomes
and would not have to depend on welfare. It would provide benefits that
workers had earned because of their own contributions and those of their
employers. In 1939, coverage was extended to dependents and survivors.
The Disability Insurance (DI) program was added in 1956. Officially, Social
Security is now called the Old-Age, Survivors, and Disability Insurance
(OASDI) program.

2. What are Social Security’s goals?

Helping ensure adequate retirement income is a fundamental goal of
Social Security.! While Social Security was never intended to guarantee
an adequate income by itself, it provides an income base upon which to
build. At the same time, Social Security is intended to reduce dependency
on welfare, so the system is funded by workers’ contributions that establish
their eligibility to receive benefits. Both contributions and benefits are
based on earnings. Accordingly, another goal of the program is to ensure
that benefits bear some relationship to contributions. This goal is known as
individual equity.” The Social Security program, in effect, balances the goal
of income adequacy and individual equity. The benefit formula seeks to
ensure adequacy by providing somewhat higher benefits, relative to wages,
for lower-income workers than higher-income workers. At the same time,
the formula also promotes some degree of individual equity by ensuring that
benefits are somewhat higher for workers with higher lifetime earnings.

3. How well has Social Security worked?
In 2004, Social Security paid almost $493 billion in benefits to more

]GAO, Social Security: Program s Role in Helping Ensure Income Adequacy, GAO-02-62
(Washington, D.C.: Nov. 30, 2001).

2GA O, Social Security: Issues in Comparing Rates of Return With Market Investments,
GAO/HEHS-99-110 (Washington, D.C.: Aug. 5, 1999).
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than 47 million people. This currently represents 22 percent of the federal
budget and 4.3 percent of our nation’s gross domestic product (GDP).? Social
Security has contributed to reducing poverty among the elderly. (See fig. 1.)
Since 1959, poverty rates for the elderly have dropped by more than two-
thirds, from 35 percent to about 10 percent in 2003. While poverty rates for
the elderly in 1959 were higher than for children or for working-age adults
(aged 18 to 64), in 2003 they were lower than for either group. Factors other
than Social Security, for example, employer-provided pensions have also
contributed to lower poverty for the elderly. Still, for about half of today’s
elderly, their incomes net of Social Security benefits are below the poverty
threshold, the level of income needed to maintain a minimal standard of
living. Nearly two-thirds of the elderly get at least half of their income from
Social Security. One in five elderly Americans has no income other than
Social Security.

Figure 1: Poverty Rates for Elderly Have Declined Faster than for
Other Groups
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Source: U.S. Bureau of the Census.

Note: Data for years indicated by dashed lines were not available but are available for 1959.



Moreover, poverty is higher for some subgroups of the elderly than for
the elderly as a whole. Women, members of minorities, and persons aged
75 and older are much more likely to be poor than other elderly persons.
For example, compared with 10 percent for all elderly persons (aged 65
and older) in 2003, poverty rates were 21 percent for all elderly women
living alone, roughly 22 percent for elderly blacks and Hispanics, and about
32 percent for black women 75 and older. Unmarried women make up more
than 70 percent of poor elderly households, although they account for only
45 percent of all elderly households.

Atabout 19 percent, poverty rates in 2000 were much higher for disabled
workers age 16-64 than for the elderly (13.2 percent). Like the rates for the
elderly, poverty rates for disabled workers are higher for women, minorities,
unmarried persons, and those living alone. Social Security provides an
important source of income for the disabled. In 1999, disabled workers
made up 11 percent of all OASDI beneficiaries. As with the elderly, Social
Security is a major component (38 percent) of family income for disabled
worker families. Also, 48 percent of disabled worker families get half of
their income or more from Social Security, as of 1999, while 6 percent have
no other income.

4. What are the sources of income for the elderly?

The four major sources of income for the elderly are Social Security,
employer pensions, income from saved assets, and earnings. While Social
Security provides income to 90 percent of elderly households, it provides
just 39 percent of their total retirement income. (See figs. 2 and 3.) Pensions,
savings, and earnings provide income to considerably fewer households
but together provide 58 percent of elderly households’ total income. They
largely determine which households have the highest retirement incomes.
Less than 3 percent comes from other sources, and less than 1 percent comes
from public assistance. Medical benefits, including Medicare and Medicaid,
also help relieve a major cost burden on the elderly, especially as health care
costs grow much faster than inflation.

3GDP is the value of all goods and services produced within the United States in a given year and is
conceptually equivalent to incomes earned in production.



Figure 2: Elderly Households’ Sources of Income, 2002
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Source: Income of the Population 55 or Older, 2002 (Washington, D.C.: SSA,
Office of Research and Statistics, 2005).

Figure 3: Percentage of Elderly Households Receiving Each Type of
Income, 2002

Percentage of elderly households
100
90

80

60

40

20

0
Social Savings Pensions  Earnings
Security

Source: Income of the Population 55 or Older, 2002 (Washington, D.C.: SSA,
Office of Research and Statistics, 2005).




SociAL SECURITY’S BENEFITS

5. Who gets benefits?

Social Security benefits are paid to workers who meet requirements for
the time they have worked in “covered employment,” that is, jobs through
which they have paid Social Security taxes. Social Security covers about
96 percent of all U.S. workers; the vast majority of the rest are state, local,
and federal government employees.* Typically, workers must contribute for
atotal of 40 quarters (or ten years in total) to qualify, though the requirements
are different if they become disabled or die. Workers and their dependents
generally become eligible to collect benefits when the workers reach age 62,
become disabled, or die.

Benefits are paid to family members of workers under certain
circumstances. Spouses and divorced spouses of eligible workers may also
be eligible at age 62 but can be eligible at younger ages if they are disabled,
widowed, or caring for eligible children. An eligible worker’s children under
18 are also eligible, and adult children are eligible if they became disabled
before age 22. Dependent parents and grandchildren of eligible workers are
also eligible for survivors benefits under certain circumstances.

Some workers qualify for Social Security benefits from both their own
work and their spouses’. Such workers are called dually entitled spouses.
Such workers do not receive both the benefits earned as a worker and the
full spousal benefit; rather the worker receives the higher amount of the
two.

6. What benefits does Social Security offer?

Social Security benefits are designed to partially replace earnings that
workers lose when they retire, become disabled, or die. As a result, the first
step of the benefit formula calculates a worker’s average, indexed monthly
earnings (AIME), which is based on the highest 35 years’ earnings on which
they paid Social Security taxes. The formula adjusts these lifetime earnings,
or indexes them to changes in average wages, to account for the fact that

4About one-fourth of public employees do not pay Social Security taxes on the earnings from their
government jobs. Historically, Social Security did not require coverage of government employees
because there was concern over the question of the federal government’s right to impose a tax

on state governments and some had their own retirement systems. In 1983, Congress extended
mandatory coverage to newly hired federal workers and to all members of Congress, regardless of
when they entered Congress. See GAO, Social Security: Issues Relating to Noncoverage of Public
Employees, GAO-03-710T (Washington, D.C.: May 1, 2003).



earnings across all workers grow over time.

Then, the benefit formula replaces a percentage of those pre-retirement
earnings, replacing a larger share of earnings for lower earners than for
higher earners. For example, retired workers receive benefits that equal
about 50 percent of pre-retirement earnings for a worker with relatively
lower earnings (45 percent of the average wage) but only about 30 percent
of earnings for one with relatively higher earnings (160 percent of the
average wage). To help ensure that beneficiaries have adequate incomes,
Social Security’s benefit formula is designed to be progressive, that is, to
provide disproportionately larger benefits, as a percentage of earnings, to
lower earners than to higher earners.’

SGAO, Social Security: Distribution of Benefits and Taxes Relative to Earnings Level, GAO-04-747
(Washington, D.C.: June 15, 2004).



Figure 4: Benefit Formula Provides Higher Replacement Rates for
Lower Earners
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Source: GAO analysis using SSA ANYPIA program.

Note: Replacement rates are the annual retired worker benefits at age 65 for workers born in 1985
divided by the earnings in the previous year. For such workers, the full retirement age will be 67. Steady
earners have earnings equal to a constant percentage of Social Security’s Average Wage Index in every
year of their careers. Those percentages are 45, 100, and 160, respectively, for low, average, and high
earners. Benefits for disabled workers use the same formula, but since workers become disabled at
different ages, it is more difficult to calculate a consistent replacement rate. See GAO, Social Security:
Distribution of Benefits and Taxes Relative to Earnings Level, GAO-04-747 (Washington, D.C.: June
15, 2004) for more on replacement rates.

Finally, the benefit formula makes other adjustments to reflect various
other provisions, such as those relating to early or delayed retirement, type
of beneficiary, and maximum family benefit amounts. In addition, once
payments have begun, Social Security benefits are adjusted annually to
reflect inflation.

7. When can people get benefits?

For retired workers and their dependents, Social Security pays full
benefits at the full retirement age, also known as the normal retirement age
(NRA), which historically has been age 65. However, under current law, the
full retirement age is gradually increasing, beginning with retirees born in
1938, and will reach 67 for those born in 1960 or later. (See table 1.) People
may choose to retire at age 62 and receive reduced benefits.® The reduction



for early retirement takes account of the longer period of time over which
benefits will be paid.

Table 1: Full Retirement Age is Increasing

Year of Birth Full Retirement Age

1937 or earlier 65

1938 65 and 2 months
1939 65 and 4 months
1940 65 and 6 months
1941 65 and 8 months
1942 65 and 10 months
1943-1954 66

1955 66 and 2 months
1956 66 and 4 months
1957 66 and 6 months
1958 66 and 8 months
1959 66 and 10 months
1960 and later 67

Source: SSA.

For disabled workers and their dependents, Social Security pays benefits
for workers who are unable to work in any job and whose disabilities are
expected to last for at least 1 year or to result in death. Social Security does
not pay benefits for short-term or partial disability. Also, benefits do not
begin until a worker has been disabled for 5 full consecutive months.

For survivors of deceased workers, Social Security pays benefits upon
the death of the worker for those who satisfy the relevant age requirements.
For example, a widow can start receiving benefits as early as age 60 or, if
she is disabled, age 50.

8. How much interest do workers’ contributions earn?

Workers do not earn interest on their Social Security contributions as
they would on a savings account. Their contributions are not deposited in
interest-bearing accounts for individual workers. Rather, their contributions

6Social Security also pays reduced benefits as early as age 62 for spouses, and widow(er)s.

10 GAO-05-193SP Social Security Reform



are credited to the Social Security trust funds, which are primarily used
to pay current benefits. Any contributions not used for current benefits are
invested in interest-bearing federal government securities that are not readily
marketable but backed by the full faith and credit of the U.S. government.
The benefit payments paid to any given individual are derived from a
formula that does not use interest rates or the amount of contributions but
rather uses the individual’s average indexed lifetime earnings as a basis for
determining benefits.

In technical terms, Social Security provides a defined-benefit pension,
not a defined-contribution pension. A defined-benefit pension generally
provides a periodic benefit based on a specific formula generally linked to
each worker’s earnings and years of employment. In contrast, a defined-
contribution pension resembles an individual savings or investment account;
retirement income from this type of pension depends on the total amount of
contributions to the account and any investment earnings. As an example,
401(k) accounts are a type of defined-contribution pension.

The benefits workers receive under Social Security do, however, reflect
a rate of return that they implicitly receive on their contributions.” This
implicit rate equals the interest rate that workers would hypothetically have
to earn on their contributions to pay exactly for all the benefits they and
their families will receive over the course of their lives. This implicit rate
of return provides one measure of individual equity, that is, the relationship
between contributions and benefits. It is important to recognize that this
implicit rate of return individuals receive on their contributions is not the
same as the interest that the Social Security trust funds earn on their assets.
Implicit rates of return for individuals depend on the relationship between
lifetime benefits and contributions, while the interest earned by the trust
funds reflects the prevailing rates of interest in the market.

Implicit rates of return that individual workers receive on their Social
Security contributions vary significantly across a number of dimensions. The
variations mostly reflect several types of income transfers that the program
is designed to provide as part of its social insurance function. Implicit
returns vary by birth year, reflecting the program’s income transfers to the
first generations of retirees from subsequent generations.® For example,

7GAO, Social Security: Issues in Comparing Rates of Return With Market Investments,
GAO/HEHS-99-110 (Washington, D.C.: Aug. 5, 1999).

GAO-05-193SP Socil




the inflation-adjusted (or “real”) implicit rate of return averaged more than
25 percent annually for the earliest retirees covered by Social Security. For
the baby boomers (those people born between 1946 and 1964), the real
implicit rate of return is projected to be around 2 percent, according to a
Social Security Administration (SSA) study.” Implicit returns that workers
receive also vary on average by their earnings level, by the number of
their dependents and survivors, by their life expectancies, and whether
they become disabled. These characteristics vary by race and gender and
therefore the associated implicit rates of return do also.

9. What is social insurance?

Under a social insurance program, society as a whole insures its members
against various risks they all face, and members pay for that insurance
through contributions to the system. Social Security is a social insurance
program through which the government assumes some of the responsibility
for a variety of risks that workers face regarding their retirement income
security. Such risks include individually based risks, such as how long they
will be able to work, how long they will live, whether they will be survived
by a spouse or other dependents, how much they will earn and save over their
lifetimes, and how much they will earn on retirement savings. Workers also
face some collective risks, such as the performance of the economy and the
extent of inflation. Different types of retirement income embody different
ways of assigning responsibility for these risks. For example, employers
sponsoring defined benefit pension plans bear the risk of investing a plan’s
assets and ensuring that contributions are adequate to fund promised benefits.
In contrast, individuals saving for retirement bear that investment risk.

SociAL SECURITY’S REVENUES

10. Where do Social Security’s revenues come from?

Social Security’s revenues generally come from three sources:
contributions in the form of payroll taxes, interest on the trust funds, and

8While these early beneficiaries may have received a substantial income transfer within the
Social Security system, as a group they contributed substantial amounts outside the system to the
retirement incomes of their parents’ generation, which did not qualify for Social Security benefits.
Such contributions included not only income support that some provided to their own parents but
also taxes and charitable contributions that paid for other forms of support.

9Dean R. Leimer, Cohort-Specific Measures of Lifetime Net Social Security Transfers, working
paper 59 (Washington, D.C.: SSA, Office of Research and Statistics, Feb. 1994)



income taxes attributable to Social Security benefits. In 2004, the shares of
total revenue were

e 84.1 percent from payroll taxes,
e 13.5 percent from interest on the trust funds, and

e 2.4 percent from income taxes on Social Security benefits.

11. How much is the Social Security payroll tax?

In 2005, workers pay a payroll tax of 6.2 percent of their covered wage
earnings up to $90,000 into Social Security, that is, into the OASDI trust
funds. Their employers pay an equal amount for a combined total tax rate
of 12.4 percent. Most analysts agree that employees ultimately pay the
employers’ share because employers pay lower wages than they would
if the employers’ contribution did not exist. Self-employed workers pay
12.4 percent, but they are allowed an income tax deduction for half of
the payroll tax. This deduction parallels the favorable tax treatment that
employers receive on their share of the payroll tax. Of the 12.4 percent
tax, 1.8 percent is allocated specifically to Disability Insurance. The other
10.6 percent is allocated to Old-Age and Survivors Insurance. In addition,
workers and their employers each pay a payroll tax of 1.45 percent of all
wage earnings (without any cap) into Medicare.

When Social Security started collecting payroll taxes in 1937, the total
payroll tax rate was 2 percent. Higher rates were not necessary because
only a small share of the elderly had contributed enough to the program to
qualify for benefits. As the system matured—that is, as each year passed
and another group of people reaching retirement age qualified for benefits—
benefit costs increased and tax rates eventually were increased accordingly.
When the program began, payroll taxes were anticipated to increase over
time with the growth in benefit payments as the system matured and more
retirees received benefits.

12. Why is there a cap on taxable earnings?

The cap on taxable earnings in 2005 is $90,000. This cap is technically
known as the contribution and benefit base because the same cap also
effectively limits the earnings that can be used in the benefit formula. This
in turn limits the size of benefits, reflecting the program’s role of only
providing for a floor of protection. Limiting the size of benefits also limits
the program’s costs and the payroll taxes needed to pay for them.



The cap on taxable earnings has also changed over time. The maximum
annual earnings subject to the payroll tax were only $3,000 in 1937. However,
in 1937, 97 percent of all covered workers had total earnings below $3,000.
In recent years, about 94 percent have had total earnings below the taxable
maximum.

13. What interest rate do the Social Security trust funds earn?

In 2004, the Social Security trust funds earned interest at an effective
nominal annual rate of 5.7 percent (or 3.1 percent after inflation). By law,
the Social Security trust fund invests in securities backed by the federal
government and receives a relatively low return that reflects the low level
of relative risk. The interest rate on special Treasury securities is equal, at
the time of issue, to the average market yield on outstanding marketable
government securities not due or redeemable for at least 4 years. This
statutory rate was intended to confer neither an advantage nor a disadvantage
on the trust fund but was intended to approximate how much it would cost
the government to borrow from the public for the long term.

14. Why are Social Security benefits taxed?

Since 1984, some Social Security beneficiaries have had to pay federal
income tax on up to one-half of their Social Security benefits.' These
income tax revenues are returned to the Social Security trust funds. In 2004,
they provided 2 percent of the trust funds’ total income.'" Currently, about
two-thirds of Social Security beneficiaries are not affected by the taxation
of benefits. This tax treatment of Social Security benefits roughly parallels
the tax treatment of similar defined-benefit pension benefits.'?

In addition, because of changes in 1993, some of these beneficiaries
also have to pay federal income taxes on an additional 35 percent of their
benefits. However, the additional revenues collected from this source are

1OIndiVidual income tax filers pay this tax if their adjusted gross income plus tax-exempt interest
income plus one-half their Social Security benefits exceeds $25,000. A married couple filing jointly
will pay the tax if this income exceeds $32,000. These levels are not adjusted for inflation, so the
percentage of beneficiaries paying tax on Social security benefits is expected to rise in the future.

llThe Social Security trust funds also receive interest income that is not subject to tax. In 2004,
14 percent of the trust funds’ income came from interest on the Social Security trust funds.

1zln most defined-contribution pensions, such as 401(k) plans, contributions are made from tax-
deferred income and participants are subject to income taxation on all benefits they receive.



dedicated to the Hospital Insurance (HI, or Medicare Part A) trust fund and
do not increase OASDI revenues.

15. What does “pay-as-you-go financing” mean?

Social Security is financed largely on a pay-as-you-go basis. In a pay-
as-you-go system, contributions that workers make in a given year are
used primarily to pay beneficiaries in that same year. Social Security is
now temporarily deviating from pure pay-as-you-go financing by building
up reserves that are by law invested in Treasury bonds. This situation has
arisen partly because the baby boom generation makes the size of the
workforce larger relative to the beneficiary population. In contrast, in a fully
funded, or advance funded, system, contributions for a given year are put
aside to pay for future benefits. The investment earnings on these funds
contribute considerable revenues and reduce the size of contributions that
would otherwise be required to pay for the benefits. Defined-contribution
pensions and individual retirement accounts (IRAs) are fully funded by
definition, as the benefits received equal the funds accumulated in the
account. Also, defined-benefit employer pensions are designed with the
goal of being advance funded: however, at any given point in time total
assets may be more or less than accrued liabilities and obligations. The
pension funds accumulate substantial assets that constitute a large share of
national saving.

Virtually from the beginning, Social Security was financed on a pay-
as-you-go basis. Congress had rejected the idea of advance funding for the
program. Many expressed concern that if the federal government amassed
huge reserve funds, it would find a way to spend them. Social Security
has run a surplus (e.g. $151 billion in fiscal 2004). Also, if the trust funds
were invested in private securities, some people would be concerned about
the influence that government could have on the private sector (e.g. social
investing).

SoCIAL SECURITY AND THE FEDERAL BUDGET

16. How do the Social Security trust funds relate to the federal
budget?
The Social Security trust funds are sub-accounts within the federal
accounting and budget systems. Trust funds are budget accounts that are
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used to record receipts and expenditures earmarked for specific purposes
and designated as trust funds by law."* The Department of the Treasury has
permanent authority to make Social Security benefit payments when there
is a fund balance sufficient to make those payments. As a result, benefit
payments do not require annual appropriations from Congress. The trust
funds also provide a contingency reserve to help ensure that short-term
economic downturns do not result in funding shortfalls.

The Social Security trust funds are not included in the measure of the
federal budget that is known as the “on-budget” deficit. However, the trust
fund’s “off-budget” status does not change the way its year-to-year finances
contribute to the government’s impact on the economy. Therefore, Social
Security is included, along with all other federal programs, in the commonly
used unified budget measure. The unified budget measures the government’s
current incremental borrowing from the public and related draw on financial
markets. Social Security’s current cash surplus, plus interest earned on
treasury securities held by the trust funds, partially offsets the deficit in the
rest of the government’s accounts. (See table 2 and fig. 5.)

Table 2: Fiscal Year 2004 Deficit Numbers

Billions of dollars Percentage of GDP

On-budget deficit (567) 4.9

Off-budget surplus 155%* 1.3

Unified deficit (412) (3.6)
Source: OMB.

This includes the $151 billion Social Security surplus and a $4 billion surplus for the Postal Service.

13GAO, Federal Trust and Other Earmarked Funds: Answers to Frequently Asked Questions,
GAO-01-199SP (Washington, D.C.: Jan. 2001).
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Figure 5: Surplus or Deficit as a Share of GDP, Fiscal Years 1980-
2004

Percentage of GDP
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Source: Office of Management and Budget and Congressional Budget Office.

17. Do Social Security taxes get spent on other government

programs?

Yes. By law, the Social Security trust funds must invest in interest-
bearing federal government securities.'* Treasury then uses the cash to pay
for other government expenses. In effect, Treasury uses Social Security’s
excess revenues to help reduce the amount it must borrow from the public
to finance other federal programs. In other words, Social Security’s excess
revenues help reduce the overall, or unified, federal budget deficit. If
Treasury could not borrow from the trust funds, it would have to borrow
more in the private capital market and pay such interest in cash to finance
current budget policy. However, Treasury still has to pay the trust funds
interest on these securities. When Social Security needs to draw on the trust

14These securities, while unmarketable, are backed by the full faith and credit of the U.S.
government and guaranteed as to both principal and interest.



funds to pay benefits, Treasury provides cash in exchange for redeemed
trust fund securities."

18. Aren’t the Social Security trust funds like private sector trust
funds?

No. Most federal trust funds, including the Social Security trust funds,
do not have the fiduciary relationships that characterize private trust funds.
Unlike private trust funds, which are managed largely on behalf of the
beneficiary, the federal government has much more flexibility and latitude.
The Office of Management and Budget (OMB) summarizes the differences
between federal and private trust funds as follows:

“The beneficiary of a private trust owns the trust’s income and often its
assets. A custodian manages the assets on behalf of the beneficiary according
to the stipulations of the trust, which he cannot change unilaterally. In
contrast, the Federal Government owns the assets and earnings of most
Federal trust funds, and it can unilaterally raise or lower future trust fund
collections and payments, or change the purpose for which the collections
are used, by changing existing law.”

15For more detail about the temporary trust fund buildup and how it interacts with the federal
budget, see GAO, Social Security Financing: Implications of Government Stock Investing for the
Trust Fund, the Federal Budget, and the Economy, GAO/AIMD/HEHS-98-74 (Washington, D.C.:
Apr. 22, 1998), and GAO, Social Security Reform: Demographic Trends Underlie Long-Term
Financing Shortage, GAO/T-HEHS-98-43 (Washington, D.C.: Nov. 20, 1997).

16OMB, Analytical Perspectives, Chapter 17, “Trust Funds and Federal Funds” (Washington, D.C.:
Government Printing Office, February 1998), p. 321.



Why is there a need for Social Security Reform?

II. SociAL SECURITY’S OUTLOOK

1.  What is the basic problem?

Social Security’s benefit costs will soon start to grow rapidly. In 2017,
Social Security is projected to pay out more cash in benefits than it receives
in revenues.' As figure 6 shows, after that time, the gap between costs and
income grows continuously, and, unless action is taken to close this gap, the
trust funds will eventually be depleted in 2041.

Figure 6: Social Security’s Costs Will Exceed its Cash Revenues
Beginning in 2017
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Source: Social Security Administration, Office of the Chief Actuary, intermediate assumptions.

1This and all subsequent estimates are from the 2005 Trustees’ Report and reflect the intermediate

assumptions. Because the future is uncertain, the trustees use three alternative sets of assumptions

to show a range of possible outcomes. The intermediate assumptions represent the Social Security

Administration’s best estimate of the trust funds’ future financial outlook. The trustees also present
estimates using low cost and high cost sets of assumptions.



2. What are the root causes of this gap between costs and
revenues?

Life expectancy has increased continually since the 1930s, and further
improvements are expected. As a result of this, along with the aging of the
baby boom generation, the aged population is growing dramatically. (See
fig. 7.) Today, those aged 65 and over are 12 percent of the population. In 30
years, they will be more than 20 percent of the population.

Figure 7: The Aged Are Growing as a Share of the Total Population
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Source: Office of the Chief Actuary, Social Security Administration.

Note: Projections based on the intermediate assumptions of the 2005 Trustees’ Report.

At the same time, the growth of the labor force is expected to slow
dramatically. Fertility rates are falling. The fertility rate is the average
number of children born to women during their childbearing years. In the
1960s, the rate was an average of 3 children per woman. Today it is a little
over 2 and is expected to fall somewhat further and remain lower than what
it takes to maintain a stable population. In addition, the relatively rapid
growth of participation in the labor force by older women is expected to
slow. Baby boomers will also be leaving the labor force as they retire. By
2025, labor force growth is expected to be less than a third of what it is
today. (See fig. 8.)



Figure 8: Labor Force Growth Is Expected to be Negligible by 2050
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Source: GAO analysis of data from the Office of the Chief Actuary,
Social Security Administration.

Note: This analysis is based on the intermediate assumptions of the 2005 Social Security trustees’
report. The percentage change is calculated as a centered 5-year moving average.

As a result of the aging population and the slower labor force growth,
fewer workers will be contributing to Social Security for each aged, disabled,
dependent, or surviving beneficiary. While 3.3 workers support each Social
Security beneficiary today, only 2 workers are expected to be supporting
each beneficiary by 2040. (See fig. 9.)



Figure 9: Social Security Workers per Beneficiary
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Source: Office of the Chief Actuary, Social Security Administration.

Note: This is based on the intermediate assumptions of the 2005 Social Security Trustees’ Report.

3. When does the money run out?

The Social Security trust funds are projected to be able to pay full
benefits until 2041.> Today baby boomers are still all of working age, and
annual Social Security trust fund income exceeds benefit payments. This
annual cash surplus is expected to continue until 2017 and help build up the
trust fund balances. After that time, annual benefit payments are expected to
exceed income, but interest income will more than make up the difference.
(See fig. 10.) Beginning in 2027, Trust fund balances are expected to then
decline rapidly until they are exhausted in 2041. At that time, annual income
will only be sufficient to pay about 74 percent of promised benefits. By
2079, income will only be sufficient to pay about 68 percent of promised
benefits.

2The Congressional Budget Office (CBO) projects that the Social Security trust funds will be able
to pay full benefits until 2052. The differences between the CBO and the Social Security trustees’
estimates reflect differences in both economic assumptions and projection methodology. The
CBO methodology uses a different approach for capturing and describing the uncertainty of future
outcomes. However, both the CBO and the trustees’ projections point to the same conclusion: that
future Social Security deficits will be large and growing over the long term. See Congressional
Budget Office, The Outlook for Social Security. Washington, D.C., June 2004.



Figure 10: Social Security’s Trust Fund Balance Grows but then
Declines Rapidly after 2027
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Source: Social Security Administration, Office of the Chief Actuary, intermediate assumptions.

4. How big is the funding gap in dollars?

Actuaries have a variety of ways of answering this question. One approach
gives an answer of $4 trillion, another approach gives an answer of $11.1
trillion, and yet a third approach gives an answer of $12 trillion, each in net
present value. What’s the difference? The estimate of $4 trillion represents
the additional amount needed today, which along with the program’s annual
tax revenues and earnings on the trust fund balances would suffice to pay
all the projected annual costs over the next 75 years.’ This is how much it
would cost in 2005 dollars to restore 75-year solvency. This approach to
measuring the funding gap reflects the adequacy of financing for a pay-as-
you-go system. The estimate of $11.1 trillion represents the same difference
between costs and income, except over an infinite time horizon.*

The estimate of $12 trillion reflects a change from the current pay-
as-you-go system to a system that is fully advance funded. This figure is
the additional amount needed today, which along with lifetime payroll tax
contributions and earnings on the trust fund balances would suffice to pay

3Actuaries call this the open-group unfunded obligation.

4Signiﬁcant uncertainty surrounds any long-term projection. Therefore, the focus should not be on
the estimate itself, but rather what the estimates can achieve in terms of solvency.



benefits for all those who are already participants in 2005.° By “participants”
we include all those who are 15 or older and, thus, have already contributed
to the system as of 2005 but exclude any future workers and beneficiaries
who have not yet contributed. For a fully advance funded program, this
value would equal zero.

In other words, $12 trillion is the value of benefits that past and current
participants will receive that exceeds what they will have paid for. It largely
reflects the large transfers already made to earlier generations in the start
up phase of a pay-as-you-go system. By its nature, a pay-as-you-go system
will always have a large unfunded obligation. However, in a pay-as-you-
go system, to the extent that future generations are willing and able to pay
more in taxes, this unfunded liability can be rolled over from generation to
generation indefinitely.

5. Which horizon should we be looking at: 75 years or an infinite
horizon?

Both. Each horizon is helpful, providing useful but different information.
However, a horizon is not as important to focus on as the concept of
sustainability, and on this point each horizon leads to the same conclusion.
As figure 6 shows, the gap between costs and income continues to widen
through the end of the 75-year period. As each year passes, another deficit
year gets factored into the solvency estimate and makes it worse. So even if
we restored solvency over the next 75 years, we would only face another 75-
year deficit next year. Sustainable solvency would require finding a solution
that would eliminate the gap between costs and income on a continuing
basis beyond the 75-year period. Using an infinite horizon is one way to
look at sustainability beyond the 75-year period. Another way to look at
sustainability would be to examine the trend in costs versus income beyond
the 75 years. Still another way would be to examine the share of the budget
and the economy that Social Security consumes.

Historically, the question of the appropriate time horizon has shifted
back and forth. The 1965 Advisory Council on Social Security criticized
previous efforts to use an infinite horizon, saying that it “serves no useful
purpose;” it suggested using the current 75-year horizon. In contrast, the 2003

5Actuaries call this the closed-group unfunded obligation.



Technical Panel on Assumptions and Methods endorsed using the infinite
horizon in addition to the 75-year horizon. Still, the panel advised that the
methodologies for the infinite horizon needed to be carefully examined.®
The technical panel further indicated that, referring to estimates from the
2003 trustees’ report, the $10.5 trillion estimate is a “large figure” but that it
needed to be seen in the context of the present value of taxable payroll over
the infinite horizon, which is on the order of $275 trillion. The panel also
believed that infinite horizon projections should emphasize the measure as
a percentage of taxable payroll.”

According to the 2005 trustees’ report, over the 75-year horizon the
unfunded obligation equals 1.8 percent of taxable payroll, while over an
infinite horizon it equals 3.5 percent of taxable payroll. In other words, an
immediate increase in the payroll tax of 1.8 percent would restore solvency
over the next 75 years, while an immediate increase of 3.5 percent would
restore solvency over an infinite horizon, given current assumptions.

No matter which horizon you use or how you look at sustainability, it
is important to keep in mind that estimating future outcomes is inherently
difficult, and using different assumptions can dramatically alter the estimates.
Therefore, in evaluating Social Security reform proposals, it is helpful to
focus on the differences between the proposals rather than on the precise
values of the estimates for any one scenario. Focusing on the differences
helps neutralize the limitations of the assumptions used.

6. Are there any issues other than solvency that call for reform?

In recent years, reform proposals have contained a variety of provisions
to address concerns other than restoring long-term solvency. Such concerns
include

e mitigating persistent poverty among very elderly widows and
those with low lifetime earnings;

e making Social Security coverage universal, that is, covering

6Technical Panel on Assumptions and Methods (2003). Report to the Social Security Advisory
Board. Washington, D.C., October 2003, pp. 84-85. This marked a change from the 1965
Advisory Council on Social Security, which rejected the issue of an infinite horizon in formulating
projections. See Advisory Council on Social Security, The Status of the Social Security Program
and Recommendations for Its Improvement, Washington D.C. 1965 at http://www.ssa.gov/history/
reports/65council/65part].html.

7Technical Panel on Assumptions and Methods (2003). Report to the Social Security Advisory
Board. Washington, D.C., October 2003, pp. 87-88.



jobs that are not currently covered, such as some state and local
government jobs; and

e redressing the effects of increasing earnings inequality on the
program’s distributional outcomes.

OvERALL FiscaL AND Economic OuTLOOK

7. When Social Security’s benefit payments exceed its income,
where will the money come from?

Absent other changes, benefit costs will exceed income in 2017. The
trust funds will have large reserves, plus interest income on these reserves,
to help pay benefits, but benefits must be paid in cash, not in government
securities. Starting in 2017, the Treasury Department will begin to redeem
trust fund securities in order to continue to pay full promised benefits.
Specifically, in order to convert the Trust Fund securities into cash, the
government will require increased government revenue, increased borrowing
from the public, or reduced spending in the rest of the government.® So,
even though the trust funds will be able to pay full Social Security benefits
until 2041, redeeming their Treasury securities will have an adverse impact
on the federal budget much sooner. In fact, in 2009, Social Security’s cash
surplus starts to decline. To finance the same level of federal spending as in
the previous year, the federal budget will need additional revenues and/or
increased borrowing, since Social Security’s surplus partially offsets the
deficit in the rest of the government’s accounts. Assuming no additional
revenues or spending cuts, budget deficits for the federal government as a
whole will increase.

Ultimately, the critical question is not how much the OASDI trust fund
has in assets. Rather, it is whether the government as a whole can afford
to pay the benefits in the future, and how those benefits compete with
other claims on scarce resources? Furthermore, what is the capacity of the
economy and budget to afford the commitment?

8For more detail about the temporary trust fund buildup and how it interacts with the federal
budget, see GAO, Social Security Financing: Implications of Government Stock Investing for
the Trust Fund, the Federal Budget, and the Economy, GAO/AIMD/HEHS-98-74 (Washington,
D.C.: Apr. 22, 1998); GAO, Social Security Reform: Demographic Trends Underlie Long-Term
Financing Shortage, GAO/T-HEHS-98-43 (Washington, D.C.: Nov. 20, 1997).



8. What is the outlook for the whole federal budget and its
capacity to pay benefits, especially when Medicare and
Medicaid are included?

The challenge posed by the growth in Social Security spending becomes
even more significant in combination with the more rapid expected growth
in Medicare and Medicaid spending. Medicare presents a much greater,
more complex, and more urgent fiscal challenge than does Social Security.
Medicare growth rates reflect not only a burgeoning beneficiary population
but also the escalation of health care costs at rates well exceeding general
rates of inflation. For example, increases in the number and quality of
health care services have been fueled by the explosive growth of medical
technology.” This growth in spending on federal entitlements for retirees
will become increasingly unsustainable over the long term. The increasing
fiscal pressure will reduce budgetary flexibility further. Over the past few
decades, spending on mandatory programs—entitlement programs such as
Social Security and Medicare—has consumed an increasing share of the
federal budget. In 1964, prior to the creation of the Medicare and Medicaid
programs, spending for mandatory programs plus net interest accounted for
about 33 percent of total federal spending.'® By 2004, this share had almost
doubled to approximately 61 percent of the budget. (See fig. 11.)

9GAO has developed a health care framework to help focus attention on this important area and to
help educate key policy makers and the public on the current system and related challenges. GAO’s
health care framework can be found at www.gao.gov/cghome/hccrisis/health.pdf. See also GAO,
Comptroller General’s Forum on Health Care: Unsustainable Trends Necessitate Comprehensive
and Fundamental Reforms to Control Spending and Improve Value, GAO-04-793SP (Washington,
D. C.: May 1, 2004).

10Net interest is primarily interest on debt held by the public but also includes interest earned from
other sources and interest paid for purposes other than borrowing from the public.



Figure 11: Federal Spending for Mandatory and Discretionary
Programs, Fiscal Years 1964, 1984, and 2004
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Source: Office of Management and Budget

Note: Discretionary programs are those programs controlled by Congress through the annual
appropriations process. They include a wide range of program such as defense, environmental,
education and other programs.

Moreover, our nation faces growing budget deficits and interest costs.
Assuming, for example, that all expiring tax provisions are extended and
discretionary spending keeps pace with the economy, by 2040 total federal
revenues may be adequate to pay no more than interest on the federal debt.
(See fig. 12.) To obtain balance, massive spending cuts, tax increases, or
some combination of the two would be necessary. Slowing the growth of
discretionary spending and allowing the tax reductions to sunset will not
eliminate the imbalance.!!

11F or additional discussion of our budget simulations, see GAO, Our Nation’s Fiscal Outlook: The
Federal Government’s Long-Term Budget Imbalance, at http://www.gao.gov/special.pubs/longterm/
longterm.html.
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Figure 12: Composition of Spending as a Share of GDP, Assuming
Discretionary Spending Grows with GDP After 2004 and All Expiring
Tax Provisions Are Extended
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Source: GAO’s March 2005 analysis.

Note: Although expiring tax provisions are extended, revenue as a share of GDP increases through
2015 due to (1) real bracket creep, (2) more taxpayers becoming subject to the AMT, and (3) increased
revenue from tax-deferred retirement accounts. After 2015, revenue as a share of GDP is held
constant.

9. What are the implications of this budgetary outlook for the
economy as a whole?

Figure 13 shows the total future draw on the economy represented
by Social Security, Medicare, and Medicaid. Under the 2005 Trustees’
intermediate estimates and CBO’s long-term Medicaid estimates, spending
for these entitlement programs combined will grow to 15.2 percent of GDP
in 2030 from today’s 8.5 percent. Taken together, Social Security, Medicare,
and Medicaid represent an unsustainable burden on future generations.



Figure 13: Social Security, Medicare, and Medicaid Spending as a
Percentage of GDP
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Source: GAO analysis based on data from the Office of the Chief Actuary,
Social Security Administration, Office of the Actuary, Centers for Medicare
and Medicaid Services, and the Congressional Budget Office.

Note: Social Security and Medicare projections are based on the intermediate assumptions of the
2005 trustees’ reports. Medicaid projections are based on CBO’s January 2005 short-term Medicaid
estimates and CBO’s December 2003 long-term Medicaid projections under midrange assumptions.

Although higher economic growth could help ease budgetary pressures,
the fiscal gap is simply too large for us to grow our way out of the problem.
Demographic trends and low national saving rates suggest that higher
economic growth, which is fueled by increases in labor, investment, and
productivity, will be difficult to achieve. As shown in figure 8 earlier, growth
of the labor force is expected to slow dramatically and by 2025 is expected
to be less than a third of what it is today.

Increased investment could spur economic growth. However, increasing
investment depends, at least in part, on national saving. One component
of national saving, personal saving, remains at historically low levels (See
Figure 14). Traditionally, the most direct way for the federal government to
increase saving has been to reduce the deficit (or run a surplus). Although
the government may try to increase personal saving, results of these efforts
have been mixed. For example, even with the preferential tax treatment
granted since the 1970s to encourage retirement saving, the personal saving
rate has steadily declined.



Figure 14: Annual Personal Saving Rates, 1960 - 2004
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Source: Bureau of Economic Analysis, Department of Commerce.

CONSEQUENCES OF INACTION

10. Why can’t we wait for a more immediate solvency crisis to
reform Social Security?

Waiting until Social Security faces an immediate solvency crisis could
reduce the options to only those choices that are the most difficult. Acting
soon would allow changes to be smaller and to be phased in so the individuals
who are most likely to be affected, namely younger and future workers, will
have more time to adjust their retirement planning. In addition, acting soon
reduces the likelihood that Congress will have to choose between imposing
severe benefit cuts and unfairly burdening future generations with the
program’s rising costs. Taking action soon would also promote increased
budgetary flexibility in the future, which could lead to greater investment,
productivity, and stronger economic growth. A successful reform effort would
improve government credibility and enhance confidence in key financial
markets. Even if reforms succeed in increasing national saving, it would
take many years for any resulting economic growth to fully develop.

Acting soon would also help to ensure that the “miracle of compounding”
works for us rather than against us. Increasing trust fund balances sooner
means they have more time to build up with compound interest. Conversely,
reducing the publicly held debt reduces the compound interest payments



that taxpayers make on that debt. Some of the benefits of early action—and
the costs of delay—can be seen in figure 15. This figure compares what it
would take to achieve solvency at different points in time by either raising
payroll taxes or reducing benefits.'? If we did nothing until 2041—the year
the Trust Funds are estimated to be exhausted—achieving actuarial balance
would require an average reduction in benefits of 29 percent or an increase
in taxes of 41 percent, or an equivalent combination of benefit reductions
and tax increases for the period 2041-2079. As figure 15 shows, earlier
action shrinks the size of the adjustment that would be needed now and in
the future.

12Solvency could also be achieved through a combination of tax and benefit actions. This would
reduce the magnitude of the required change in taxes or benefits compared with changes made
exclusively to taxes or benefits as shown in figure 15.



Figure 15: Size of Action Needed to Achieve Social Security
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Note: This is based on the intermediate assumptions of the 2005 Social Security Trustees’ Report. The
benefit adjustments in this graph represent a one-time, permanent change to all existing and future
benefits beginning in the first year indicated.

11. But what happens if we don’t do anything?

If we don’t do anything, the system will likely become insolvent and
pay lower benefits; it will not, though, go bankrupt.'* However, because the
law does not provide for any procedure for paying less than full benefits,
it is difficult to say exactly what would unfold. One possible scenario of
trust fun